

Absolute cardiovascular risk assessment by Australian early-career general practitioners: a cross-sectional study

Toby Morgan,¹ Anna Ralston,^{2,3} Andrew Davey,^{2,3} Elizabeth G Holliday,³ Mark Nelson,^{4,5} Alison Fielding,^{2,3} Mieke van Driel,⁶ Amanda Tapley,^{2,3} Dominica Moad,^{2,3} Jean Ball,⁷ Jennifer Presser,⁵ Neil Spike,^{8,9} Parker Magin ^{2,3}

To cite: Morgan T, Ralston A, Davey A, *et al.* Absolute cardiovascular risk assessment by Australian early-career general practitioners: a cross-sectional study. *Fam Med Com Health* 2023;**11**:e002251. doi:10.1136/fmch-2023-002251

► Additional supplemental material is published online only. To view, please visit the journal online (<http://dx.doi.org/10.1136/fmch-2023-002251>).

ABSTRACT

Objective To determine the prevalence and associations of general practice registrars' performing absolute cardiovascular risk (ACVR) assessment (ACVRa).

Design A cross-sectional study employing data (2017–2018) from the Registrar Clinical Encounters in Training project, an ongoing inception cohort study of Australian GP registrars. The outcome measure was whether an ACVRa was performed. Analyses employed univariable and multivariable regression. Analysis was conducted for all patient problems/diagnoses, then for an 'at-risk' population (specific problems/diagnoses for which ACVRa is indicated).

Setting Three GP regional training organisations (RTOs) across three Australian states.

Participants GP registrars training within participating RTOs.

Results 1003 registrars (response rate 96.8%) recorded details of 69 105 problems either with Aboriginal and/or Torres Strait patients aged 35 years and older or with non-Indigenous patients aged 45 years and older. Of these problems/diagnoses, 1721 (2.5% (95% CI 2.4% to 2.6%)) involved an ACVRa. An ACVRa was 'plausibly indicated' in 10 384 problems/diagnoses. Of these, 1228 (11.8% (95% CI 11.2% to 12.4%)) involved ACVRa. For 'all problems/diagnoses', on multivariable analysis female gender was associated with reduced odds of ACVRa (OR 0.61 (95% CI 0.54 to 0.68)). There was some evidence for Aboriginal and/or Torres Strait Islander people being more likely to receive ACVRa (OR 1.40 (95% CI 0.94 to 2.08), $p=0.10$). There were associations with variables related to continuity of care, with reduced odds of ACVRa: if the patient was new to the registrar (OR 0.65 (95% CI 0.57 to 0.75)), new to the practice (OR 0.24 (95% CI 0.15 to 0.38)) or the problem was new (OR 0.68 (95% CI 0.59 to 0.78)); and increased odds if personal follow-up was organised (OR 1.43 (95% CI 1.24 to 1.66)). For 'ACVRa indicated' problems/diagnoses, findings were similar to those for 'all problems/diagnoses'. Association with Aboriginal and/or Torres Strait Islander status, however, was significant at $p<0.05$ (OR 1.60 (95% CI 1.04 to 2.46)) and association with female gender was attenuated (OR 0.88 (95% CI 0.77 to 1.01)).

Conclusion Continuity of care is associated with registrars assessing ACVR, reinforcing the importance of care continuity in general practice. Registrars' assessment of an individual patient's ACVR is targeted to patients

WHAT IS ALREADY KNOWN ON THIS TOPIC

⇒ Despite improved management of cardiovascular disease (CVD) in recent years, CVD produces enormous global burden. Absolute cardiovascular risk (ACVR) assessment (ACVRa) is the best means for stratifying CVD risk and is recommended in directing therapy. Despite this, ACVRa remains underutilised in general practice, particularly in younger people.

WHAT THIS STUDY ADDS

⇒ Australian general practice registrars are significantly less likely to carry out ACVRa in female patients, and in younger patients, and may be more likely to calculate ACVR in Aboriginal and/or Torres Strait Islander people and in regular patients (of the registrar or the practice).

HOW THIS STUDY MIGHT AFFECT RESEARCH, PRACTICE OR POLICY

⇒ There is considerable scope to improve implementation of ACVRa among appropriate patient populations (Aboriginal and/or Torres Strait Islander patients and female patients). Better targeted education and training of registrars in the provision of ACVRa should be prioritised to bridge evidence-practice gaps and contribute to equity in CVD outcomes.

with individual risk factors, but this may entail ACVRa underutilisation in female patients and younger age groups.

INTRODUCTION

Cardiovascular disease burden

Cardiovascular disease (CVD) is the leading global cause of disability-adjusted life-years and mortality, accounting for approximately one-third of deaths globally.¹ In Australia, CVD carries a significant burden of disease.^{2,3} Internationally, CVD-related morbidity and mortality rates have improved significantly in recent decades. Between 2010 and 2019, there was an 11.1% decrease in age-standardised rates of death due to CVD (14.7% for



© Author(s) (or their employer(s)) 2023. Re-use permitted under CC BY-NC. No commercial re-use. See rights and permissions. Published by BMJ.

For numbered affiliations see end of article.

Correspondence to

Dr Parker Magin;
parker.magin@newcastle.edu.au

cerebrovascular disease and 9.7% for ischaemic heart disease).^{4 5} Despite these improvements, the global decline in CVD incidence and mortality has faltered, and even reversed in younger people.^{6 7} A further aspect of the Australian context is that Aboriginal and/or Torres Strait Islander peoples experience CVD at higher rates than non-Indigenous Australians but are undertreated for risk factors and receive poorer ongoing management,^{8 9} outcomes reflected in First Nations populations in Canada¹⁰ and the USA.¹¹

Absolute cardiovascular risk assessment

Modifiable risk factors for CVD are well established (including high blood pressure, high blood cholesterol, smoking and diabetes). Better management of these risk factors has been a major reason for declines in rates of CVD in advanced countries in recent years. Nine potentially modifiable risk factors have been deemed to account for 90% of the Population Attributable Risk of myocardial infarction in men and 94% in women in a major international study.¹²

The additive effects of individual risk factors in CVD and a need to target preventive treatment to those patients at greatest risk of CVD has led to the concept of a management tool based on absolute cardiovascular risk (ACVR) rather than independent management of individual risk factors.¹³ Calculation of ACVR involves the use of multi-variable risk assessment tools (CVD risk scores or calculators) to estimate an individual's CVD risk. These scores or calculators incorporate relevant CVD risk factors and arrive at a summary estimate of the individual's personal absolute risk of experiencing a major cardiovascular event (typically, in the following 5 or 10 years).¹⁴ The intensity of management (including antihypertensive and lipid-lowering treatment) should then be considered accordingly.¹⁵ As long ago as 1993, recommendations have been made for antihypertensive and lipid-lowering treatment decisions to be based on ACVR calculation rather than relative risk.^{16 17}

ACVR algorithms include those for estimating risk of fatal or non-fatal coronary heart disease developed from Framingham, USA data,¹⁸ for estimating risk of any CVD mortality from European data,¹⁹ and for estimating risk of incident CVD (coronary heart disease, stroke and transient ischaemic attack) from the UK data.²⁰ In Australia, use of the Australian cardiovascular risk calculator, based on the Framingham Risk Equation and recalibrated for the Australian population, is recommended by the National Heart Foundation.¹⁴

Implementation of ACVRa in general practice

General practice is the primary mechanism for CVD risk identification and management in Australia.²¹ All GPs and GP registrars (vocational specialist trainees in family medicine/general practice) will have access to ACVR risk calculators in their practice software, plus easily accessible online availability. Hardcopy ACVR risk calculation algorithms (using colour-coded charts) are also widely

available.²² Australian GP practice software programs (and online ACVR calculators) produce a percentage estimate of ACVR (eg, % risk of incident CVD in the next 5 years) based on Framingham data. Printed materials (and some online sites) produce an ACVR risk stratification classification, for example, 'low risk' (less than 10% risk of CVD within the next 5 years), 'moderate risk' (10%–15%) and high risk' (greater than 15%).¹⁴

Routine use of ACVRa has been shown to promote better health outcomes through improved cardiovascular management.^{23–25} However, implementation in Australian general practice has proved problematic: a 2020 survey found that 78% of Australian GPs use ACVRa, with just 45% reporting high assessment rates.²⁶ In baseline audits of general practice in a recent Australian RCT, only 48% of patients aged 45–69 had ACVRa recorded in their notes.²⁷ Thus, there appears to be only modest uptake of ACVRa in Australian general practice. Available literature demonstrates similarly poor utilisation of CVD risk assessment tools among primary care practitioners internationally, with reported rates of frequent/regular use as low as 17% in the USA²⁸ and 32.4% in Ireland.²⁹ In Belgium, 53% of GPs reported never using a global (absolute) CVD risk assessment tool.³⁰ While a 2020 survey in the UK revealed high self-reported utilisation of CVD risk assessment among GPs across a number of CVR risk tools, how frequently these tools are used remains unclear.³¹

GPs continue to focus on individual risk factors (blood pressure and cholesterol) rather than absolute CVD risk.^{32 33} This represents a significant evidence-practice gap in CVD management.^{34 35} It has been estimated that only 7% of Australians aged 45–74 years attending general practice have had an ACVR score calculated.³⁶ Qualitative Australian research suggests that implementing ACVR-based management in general practice is complex and may require multifaceted approaches.^{37 38} There remains significant scope for increasing the proportion of eligible patients receiving ACVRa.

With the disease burden of CVD projected to increase significantly in this decade,³⁹ 'increased efforts are needed to tackle these major risk factors'.⁴⁰ GP registrars (specialist vocational trainees in general practice/family practice) are a group of particular interest given that registrars (during their 18 months of general practice-based training) comprise approximately 13% of current GP workforce by head count⁴¹ and are at a career stage when they are establishing clinical approaches and practices that may be long-lasting. Exploring the use of ACVRa by GP registrars will be valuable in determining uptake and understanding associations of ACVRa. An understanding of these and other contextual aspects of ACVR use will inform the multifaceted approaches required to increase the use of ACVRa in primary care, including during the vocational training of GPs.

In this study, we aimed to establish the prevalence and associations of GP registrars performing in-consultation ACVRa.

METHODS

This was an analysis nested within the Registrar Clinical Encounters in Training (ReCEnT) study.

Registrar Clinical Encounters in Training

ReCEnT is an ongoing inception cohort study of GP registrars and the content of their consultations. It is a multisite study, conducted since 2010. The data for this analysis were collected from 2017 to 2018.

For this analysis, participants were GP registrars training with three of Australia's nine then-current regional training organisations (RTOs) across three Australian states (New South Wales, Victoria and Tasmania) and the Australian Capital Territory. RTOs were government-funded, not-for-profit, geographically defined educational and training organisations. They delivered regular education sessions for their registrars and co-ordinated and managed registrars' placement in individual training practices where training is conducted within an apprenticeship-like model with supervision by experienced GPs. Registrars spend 18 months to 2 years of their training in the practice environment. Though they have recourse to supervisor advice and assistance, they practice with considerable clinical autonomy. The participating RTOs were responsible for the training of 44% of Australian GP registrars during the period of data collection.⁴²

The ReCEnT methodology has been reported elsewhere.⁴³ Briefly, registrars collect data on 60 consecutive office-based consultations, at approximately the midpoint of each of three 6-month (full-time equivalent) general practice-based training terms. Data collection is via dedicated Case Report Forms (CRFs). The CRFs are composed of an extensive set of items which are ongoing. There is also capacity to add items exploring new topics for a limited number of rounds of data collection. In the case of ACVR, this item was included for three rounds of data collection in 2017 and 2018. ReCEnT is a routine component of registrars' educational programme, with individual written feedback provided to prompt individual registrars' reflection on their clinical and educational experiences.⁴⁴ Registrars may consent for their data to be also used for research purposes.

In addition to the in-consultation data, registrar demographic data and training practice characteristics are collected (via questionnaire) 6 monthly.

Study population

The study population included all registrars from participating RTOs who were in one of their first three (6-month full-time equivalent) GP training terms.

Outcome

The outcome of interest was whether an ACVRa was performed.

Registrars were also asked to record whether the ACVRa outcome was categorised as low risk (<10% 5-year risk), moderate risk (10%–15%), high risk (>15%) or whether the risk was deemed to be 'automatically clinically

categorised as high risk' (eg, if the patient had a pre-existing condition that categorised them as high risk).

This data were obtained via items included in the ReCEnT CRF for a limited number of rounds of data collection.

Independent variables

Independent variables related to registrar, practice, patient, consultation and consultation actions.

Registrar factors were age, gender, part-time or full-time status, training term, number of years since graduation, whether they worked at the practice previously, and if they qualified as a doctor in Australia. Practice factors included size of practice (number of full-time equivalent GPs), billing practice (does the practice bulk bill, ie, routinely do not charge the patient a consultation fee at the point of care), rurality (based on the Australian Standard Geographical Classification Remoteness Area classification),⁴⁵ practice location Socio-Economic Index for Area (SEIFA-IRSD) relative index of disadvantage decile⁴⁶ and RTO region. Patient factors were age, gender, identification as Aboriginal and/or Torres Strait Islander, non-English speaking background and patient/practice status (whether the patient was an existing patient of the practice, new to the registrar or new to the practice). Consultation factors were duration of consultation, number of problems/diagnoses addressed in each consultation, if the problem/diagnosis was new, and if the registrar sought information or assistance for diagnosis and/or management of the problem (if they consulted their supervisor and/or other sources of information). The consultation action factors were if medication was prescribed, pathology or imaging ordered, referrals made, follow-up organised and if any learning goals were generated by the registrar.

Statistical analysis

Analysis was at the level of the individual problem/diagnosis and performed on data from three rounds of data collection 2017–2018.

Analysis was confined to Aboriginal and Torres Strait Islander patients aged 35 years and older, and to non-Indigenous patients aged 45 years and older, reflecting National Vascular Disease Prevention Alliance (NVDPA) guidelines for ACVRa.¹⁴

Proportions of problems/diagnoses that involved an ACVRa were calculated with 95% CIs, adjusted for clustering of observations within registrars.

The main analyses used logistic regression, within the generalised estimating equations framework to account for repeated measures within registrars. An exchangeable working correlation structure was assumed.

Four models were constructed, all were with the outcome ACVRa performed/ACVRa not performed.

1. The first two models included 'all problems/diagnoses'.

The first model included patient-related, practice-related and registrar-related covariates. The

second model included these same covariates plus consultation-related and consultation-related covariates. The rationale for the sequential models is that whether the registrar performs an ACVRa will plausibly be influenced by patient, registrar and practice factors, but evaluation of these influences may be compromised by inclusion in the multivariable model of factors operating once the consultation is progressing.

2. The third and fourth models included only specific problems/diagnoses for which an ACVRa could plausibly be indicated. These problems/diagnoses were determined by a panel of GP study investigators to be atrial fibrillation, chronic kidney disease, diabetes mellitus type I, diabetes mellitus type II, hyperlipidaemia, hypertension, obesity, smoking and 'check-up'.

Univariable analyses were conducted on each covariate, with the outcome. Covariates with a univariable $p < 0.20$ were considered for inclusion in the multiple regression model.

Once the model with all significant covariates was fitted, model reduction was assessed. Covariates which were no longer significant (at $p < 0.2$) in the multivariable model were tested for removal from the model. If the covariate's removal did not substantively change the resulting model, the covariate was removed from the final model. A substantive change to the model was defined as any covariate in the model having a change in the effect size (OR) of greater than 10%.

Diagnostic tests were conducted to assess goodness of fit, using the Hosmer-Lemeshow test for logistic models.

The regressions modelled the log-odds that ACVRa was performed during the consultation. Effects were expressed as ORs with 95% CI. Significance was declared at the conventional 0.05 level, with the magnitude and precision of effect estimates also used to interpret results.

Analyses were programmed by using STATA V.16.0 and SAS V.9.4.

Patient and public involvement

There was no patient involved. The participants in the ReCEnT study are registrars. Registrars were involved in the design of the study (in 2009) and participating registrars regularly provide feedback on the ongoing study. Results are disseminated to study participants in monthly GP training newsletters.

RESULTS

A total of 1003 individual registrars (response rate 96.8%), during 1713 registrar-rounds of data collection, recorded details of 69 105 problems/diagnoses of patients in the included age-groups. See [table 1](#) for characteristics of participating registrars and their practices.

Of these problems/diagnoses, 1721 (2.5% (95% CI 2.4% to 2.6%)) involved an ACVRa.

There were 10 384 problems/diagnoses for which 'an ACVRa is plausibly indicated'. Of these problems, 1228

Table 1 Characteristics of participating registrars and their practices

Registrar variables (n=1003)		n (%)
Registrar gender	Male	399 (39.78)
	Female	604 (60.22)
Qualified as doctor in Australia	No	181 (18.06)
	Yes	821 (81.94)
College enrolled in	RACGP	957 (96.76)
	ACCRM	27 (2.73)
	Both	5 (0.51)
Registrar round/practice variables (n=1713)		
Registrar age (years)	Mean (SD)	32.48 (6.22)
Registrar works FT or PT	PT	359 (21.82)
	FT	1286 (78.18)
Registrar training term	Term 1	611 (35.67)
	Term 2	759 (44.31)
	Term 3	343 (20.02)
Practice SEIFA index (decile)	Mean (SD)	5.50 (2.88)
Practice rurality	Major city	1073 (64.64)
	Inner regional	434 (26.14)
	Outer regional or remote	153 (9.22)
FT, full time; PT, part time; SEIFA, Socio-Economic Indexes for Areas.		

(11.8% (95% CI 11.2% to 12.4%)) involved an ACVRa being performed.

Of ACVRa performed, 40.3% were determined to be low risk, 21.3% moderate risk, 22.7% high risk and 15.7% were 'clinically categorised as high risk'.

Associations of an ACVRa being performed

The characteristics associated with an ACVRa being performed for 'all problems/diagnoses' in the included age groups are presented in online supplemental table 1. The associations with an ACVRa being performed (logistic regression models) are presented in [table 2](#).

Significant multivariable associations of an ACVRa being carried out included patient age 55–64 years (OR 1.19 (95% CI 1.00 to 1.41)), and age 65–74 years (OR 1.18 (95% CI 1.00 to 1.39)). Patient age 75+ was associated with a considerably lesser odds of an ACVRa being carried out (OR 0.66 (95% CI 0.52 to 0.83)) (all compared with age <55 years). Female gender was associated with reduced odds of ACVRa being carried out (OR 0.61 (95% CI 0.54 to 0.68)). There was some evidence ($p=0.10$) that Aboriginal and/or Torres Strait Islander people in the general population may be more likely to receive ACVRa (OR 1.40 (95% CI 0.94 to 2.08)). There were also associations with variables related to continuity of care with reduced odds of ACVRa if the patient was new to the registrar (OR 0.65 (95% CI 0.57 to 0.75)) new to the practice (OR 0.24

Table 2 Associations with an ACVRa being performed (logistic regression models)

			Univariate		Adjusted	
Factor group	Covariate	Class	OR (95% CI)	P value	OR (95% CI)	P value
Model 1 (including patient, registrar and practice variables)						
Patient factors	Patient age group Referent: 45–54	55–64 years	1.20 (1.02 to 1.42)	0.027	1.19 (1.00 to 1.41)	0.044
		65–74 years	1.21 (1.04 to 1.42)	0.016	1.18 (1.00 to 1.39)	0.044
		75+years	0.74 (0.60 to 0.91)	0.005	0.66 (0.52 to 0.83)	<0.001
	Patient gender	Female	0.59 (0.53 to 0.66)	<0.001	0.61 (0.54 to 0.68)	<0.001
	Aboriginal and/or Torres Strait Islander	Yes	1.48 (1.03 to 2.13)	0.034	1.40 (0.94 to 2.08)	0.100
	Non-English-speaking background	Yes	1.19 (0.97 to 1.46)	0.092	1.23 (0.98 to 1.55)	0.070
	Patient/practice status Referent: existing patient	New to registrar	0.66 (0.58 to 0.76)	<0.001	0.65 (0.57 to 0.75)	<0.001
		New to practice	0.27 (0.17 to 0.42)	<0.001	0.24 (0.15 to 0.38)	<0.001
Registrar factors	Qualified as doctor in Australia	Yes	0.67 (0.50 to 0.89)	0.005	0.80 (0.59 to 1.08)	0.140
	Registrar age (years)		1.03 (1.00 to 1.05)	0.026	1.00 (0.98 to 1.02)	0.98
	Years worked prior to GP training		1.05 (1.00 to 1.10)	0.031	1.03 (0.99 to 1.08)	0.147
Practice factors	Region Referent: region 1	Region 2	1.45 (0.96 to 2.19)	0.081	1.34 (0.84 to 2.15)	0.22
		Region 3	1.29 (0.94 to 1.75)	0.114	1.32 (0.95 to 1.82)	0.100
		Region 4	1.14 (0.83 to 1.56)	0.42	0.99 (0.68 to 1.43)	0.95
		Region5	1.58 (1.08 to 2.31)	0.017	1.43 (0.99 to 2.07)	0.057
	Practice routinely bulk bills	Yes	1.24 (0.99 to 1.56)	0.064	1.25 (0.97 to 1.61)	0.083
Model 2 (including all above variables+consultation variables)						
Consultation factors	New problem seen	Yes	0.60 (0.53 to 0.68)	<0.001	0.68 (0.59 to 0.78)	<0.001
	Sought help any source Referent: no help sought	Other sources	1.64 (1.36 to 1.98)	<0.001	1.57 (1.25 to 1.99)	0.001
		Supervisor	0.94 (0.75 to 1.18)	0.60	0.79 (0.58 to 1.06)	0.117
	Consultation duration (minutes)		1.02 (1.01 to 1.02)	<0.001	1.01 (1.00 to 1.01)	0.034
	No of problems		1.35 (1.27 to 1.44)	<0.001	1.26 (1.17 to 1.36)	<0.001
	Pathology ordered	Yes	1.72 (1.52 to 1.93)	<0.001	1.66 (1.43 to 1.92)	<0.001
	Follow-up ordered	Other GP in the practice	0.89 (0.67 to 1.17)	0.39	0.95 (0.67 to 1.34)	0.76
	Referent: no follow-up	With themselves	1.61 (1.43 to 1.80)	<0.001	1.43 (1.24 to 1.66)	<0.001
	Learning goals generated	Yes	1.47 (1.26 to 1.72)	<0.001	1.19 (0.98 to 1.44)	0.086
	Medication prescribed	Yes	0.80 (0.71 to 0.90)	<0.001	0.85 (0.74 to 0.97)	0.014
ACVRa, absolute cardiovascular risk assessment; GP, general practice.						

(95% CI 0.15 to 0.38)); or the problem was new (OR 0.68 (95% CI 0.59 to 0.78)); and increased odds if personal follow-up was organised (OR 1.43 (95% CI 1.24 to 1.66)). Consultations in which an ACVRa was conducted were statistically significantly longer, but the effect size was small.

Regression diagnostics for the final model showed no violations of the assumptions of heteroscedasticity or

normality. Goodness-of-fit tests indicated good model fit and there were no influential observations.

Associations with an ACVRa being performed for problems/diagnoses for which an ACVRa is indicated

The characteristics associated with an ACVRa being performed for problems/diagnoses for which an ACVRa is indicated are presented in online supplemental table

Table 3 Associations with an ACVRa being performed for a problem for which an ACVRa is indicated (logistic regression models)

Factor group	Covariate	Class	Univariate		Adjusted	
			OR (95% CI)	P value	OR (95% CI)	P value
Model 1 (including patient, registrar and practice variables)						
Patient factors	Patient age group Referent: 45–54	55–64 years	1.02 (0.85 to 1.22)	0.87	1.05 (0.88 to 1.27)	0.59
		65–74 years	0.89 (0.74 to 1.07)	0.21	0.88 (0.73 to 1.07)	0.20
		75+ years	0.55 (0.43 to 0.70)	<0.001	0.48 (0.37 to 0.63)	<0.001
	Patient gender	Female	0.84 (0.74 to 0.96)	0.012	0.88 (0.77 to 1.01)	0.070
	Aboriginal and/or Torres Strait Islander	Yes	1.71 (1.15 to 2.55)	0.008	1.60 (1.04 to 2.46)	0.031
	Patient/practice status	New to registrar	0.59 (0.51 to 0.70)	<0.001	0.57 (0.48 to 0.67)	<0.001
		New to practice	0.24 (0.15 to 0.39)	<0.001	0.19 (0.11 to 0.33)	<0.001
Practice factors	Region Referent: region 1	Region 2	1.50 (0.98 to 2.29)	0.060	1.27 (0.77 to 2.10)	0.34
		Region 3	1.54 (1.12 to 2.12)	0.008	1.52 (1.10 to 2.10)	0.011
		Region 4	1.27 (0.91 to 1.76)	0.155	1.17 (0.84 to 1.64)	0.343
		Region 5	1.74 (1.19 to 2.54)	0.004	1.69 (1.16 to 2.48)	0.007
Registrar factors	Registrar age		1.02 (0.99 to 1.04)	0.165	1.00 (0.98 to 1.02)	0.90
	Years worked prior to GP training		1.04 (0.99 to 1.09)	0.148	1.04 (0.99 to 1.10)	0.080
Model 2 (including all above variables+consultation variables)						
Consultation factors	New problem seen	Yes	1.37 (1.17 to 1.61)	<0.001	1.43 (1.20 to 1.71)	<0.001
	Sought help any source	Other sources	2.61 (2.10 to 3.24)	<0.001	2.06 (1.54 to 2.76)	<0.001
	Referent: no help sought	Supervisor	1.38 (1.02 to 1.86)	0.038	0.80 (0.53 to 1.21)	0.30
	Consultation duration (minutes)		1.02 (1.01 to 1.02)	<0.001	1.01 (1.01 to 1.02)	0.001
	Pathology ordered	Yes	0.87 (0.75 to 1.00)	0.047	0.77 (0.64 to 0.91)	0.003
	Follow-up ordered	Other GP in the practice	0.86 (0.61 to 1.20)	0.36	0.89 (0.58 to 1.36)	0.58
	Referent: no follow-up	With themselves	1.63 (1.43 to 1.86)	<0.001	1.31 (1.11 to 1.55)	0.002
	Learning goals generated	Yes	2.15 (1.78 to 2.60)	<0.001	1.40 (1.09 to 1.81)	0.009
	Referral ordered	Yes	1.57 (1.23 to 2.00)	<0.001	1.41 (1.06 to 1.88)	0.019

ACVRA, absolute cardiovascular risk assessment; GP, general practice.

ACVRa, absolute cardiovascular risk assessment; GP, general practice.

2. The associations with an ACVRa being performed (logistic regression models) are presented in [table 3](#).

For the analysis of problems/diagnoses for which an ACVRa is indicated, findings were broadly similar to those for ‘all problems/diagnoses’, above. One difference was that the association with Aboriginal and/or Torres Strait Islander status was now significant at the $p<0.05$ level (OR 1.60 (95% CI 1.04 to 2.46)). There was also evidence of regional variability with two of the five regions having significantly greater odds of ACVRa performance (OR 1.69 (95% CI 1.16 to 2.48) and 1.52 (95% CI 1.10 to 2.10) compared with the referent region). The age groups 55–64 and 65–74 were no longer significantly different to the referent age group (<55). The effect size of the association with female gender was less (OR of 0.88 compared with 0.61) and no longer significant at the $p<0.05$ level (OR (95% CI 0.77 to 1.01), $p=0.070$).

Regression diagnostics for the final model showed no violations of the assumptions of heteroscedasticity or normality. Goodness-of-fit tests indicated good model fit and there were no influential observations.

DISCUSSION

Summary of main findings

Registrars conducted an ACVRa in patients 45 years or older (or 35 years and older in Aboriginal and/or Torres Strait Islander patients) for 2.5% of ‘all problems/diagnoses’ and, for problems/diagnoses for which an ACVRa is plausibly indicated, in 11.8% of instances.

We found that registrars are significantly less likely to conduct ACVRa in female patients, but this was attenuated when limited to the ‘at-risk problem/diagnosis’ population. In the ‘all problems/diagnoses’ population,

there is some evidence that Aboriginal and/or Torres Strait Islander patients are more likely to have ACVRa carried out. The effect size increased and was statistically significant at the 0.05 level when confined to the 'at-risk' problems/diagnoses population. In the 'all problems/diagnoses' population, registrars are more likely to carry out ACVRa with increasing age of the patient (55–64 years and 65–74 years), but less likely after the age of 75 years. These findings are attenuated when confined to 'at-risk' problems, but those over 75 years of age were still significantly less likely to receive ACVRa. Follow-up being arranged to see the registrar (but not other GPs in the practice) is significantly associated with ACVRa. A patient being new to the practice, being new to the registrar, and the patient presenting with a new problem is associated with reduced odds of ACVRa. Association of ACVRa with increased consult duration is statistically significant but was of modest effect size.

Interpretation of findings and comparison with existing literature

The findings of frequency of ACVRa in our study are of limited import. Our data does not elucidate what proportion of patients for who an ACVRa is indicated have already received one at some time (and in a timely manner). Intuitively, 11.8% of appropriate problems/diagnoses prompting an ACVRa at individual presentations suggests registrars are proactively performing risk assessments, but the extent of potential for improvement is unclear. The findings regarding associations of performing an ACVRa, however, are relevant and potentially important to clinical GP and to GP vocational training:

Reduced rate of ACVRa in female patients

To our knowledge, the finding that registrars are 39% less likely to carry out ACVRa for female patients is novel. It may be a contributor to undertreatment of CVD in those women for who risk reduction is indicated. Internationally, significant inequities exist in the diagnosis and management of CVD burden in women when compared with men.^{47 48} Healthcare providers have been shown to poorly understand or underestimate cardiovascular risk in women,⁴⁹ with a recent study of Australian GP revealing female patients are significantly less likely to have documented risk factors than male patients.⁵⁰ Women with risk factors are less likely to be on recommended treatment than men.^{47 51 52} The caveat to our findings is, that, as male gender is a risk factor for CVD (and incorporated in ACVRa tools), individual women (especially those with a single risk factor) may be at risk of overtreatment if an ACVRa is not performed.

Gender disparities may reflect registrars' being cognizant of men's higher risk for CVD. But, while women demonstrate a favourable risk profile,⁵¹ CVD is the leading cause of mortality for women worldwide.^{47 48} Our findings provide nuance to a body of evidence suggesting that women's cardiovascular health is undermanaged. Underassessment of ACVR may result in undermanagement in

some women. But it could also result in overmanagement in some women (eg, with a modestly elevated cholesterol but no other risk factors). Optimal management mandates assessment of ACVR.

Increased ACVRa with patient age

Patient ages 55–64 years and 65–74 years were associated with a 19% and 18% increase in likelihood of ACVRa, respectively, compared with those aged 45–54. This suggests registrars correctly recognise increased absolute risk with age.⁵³ But it does not necessarily follow that overall lower risk in patient aged 55–74 years means lesser need for risk assessment. The Australian NVDPA guidelines for ACVRa and management recommend ACVRa calculation for all adults, commencing at age 45¹⁴ and the UK National Institute for Health and Care Excellence (NICE) guidelines encourage ACVRa for those aged over 24 without existing CVD.⁵⁴

Those aged over 74 were less likely (34%) to receive ACVR calculation than those aged 45–55. Registrars may perceive patients aged over 74 as inherently high-risk and formal ACVRa to be unnecessary in this group. Alternatively, for people over 74 years, quality of life, comorbidities and life expectancy may have influenced (validly or not) perceptions of the appropriateness of managing ACVR, so discouraging ACVR calculation.¹⁴ Another consideration is that, while ACVR calculation is still recommended for estimating risk in people over 74 years, ACVR algorithms have not been validated in this age group and Australian ACVR guidelines use 74 years as the upper age limit for calculating risk (and caution that calculated risk for older patients may be an underestimate).¹⁴ This may possibly tend to discourage ACVRa in this age group. The NICE guidelines recommend ACVRa for patients up to and including 84 years old and consider those aged over 84 to be high risk.⁵⁴

Aboriginal and/or Torres Strait Islander patients

Our finding of some evidence that Aboriginal and/or Torres Strait Islander patients are more likely to receive ACVRa (statistically significant when confined to the 'at-risk' problems/diagnoses population), is consistent with the higher ACVR of Aboriginal and/or Torres Strait Islander peoples.¹⁴ ACVRa of Aboriginal and/or Torres Strait Islander people has been endorsed by the Australian Institute of Health and Welfare as a national key performance indicator for preventive health.⁵⁵ Our finding is somewhat reassuring, given literature demonstrating wide health centre variability for ACVRa in Aboriginal and/or Torres Strait Islander patients.⁵⁶ The Aboriginal and/or Torres Strait Islander population continues to experience far poorer cardiovascular health outcomes than the non-Indigenous population, with far higher rates of modifiable risk factors,⁵⁷ and mortality from CVD occurring 10–20 years earlier than the non-Indigenous population.⁹ CVD is the largest contributor to the gap in burden of disease between Aboriginal and/or Torres Strait Islander and non-Indigenous populations.⁵⁸ This disparity is also

true for provision of treatment; a 2018 Australian study found 58% of high-risk Aboriginal and/or Torres Strait Islander patients were not receiving recommended lipid-lowering therapy.⁹ These outcomes are comparable for Aboriginal people of Canada, who suffer increased CVD burden compared with non-Aboriginal Canadians.⁵⁹ While our findings suggest registrars make an extra effort to identify and manage ACVR in Aboriginal and/or Torres Strait Islander patients, there may still be considerable scope for broader provision of ACVRa, particularly in the population without obvious risk factors, to reduce disparities in disease burden by encouraging early detection and intervention.⁵⁶

Registrars conduct ACVRa in patients with individual indicators of higher risk

When focused to the 'at-risk' problems/diagnoses population, registrars' reduced likelihood of carrying out ACVRa for female patients was attenuated, and they were significantly more likely to carry out ACVRa for Aboriginal and/or Torres Strait Islander patients. Registrars are more likely to carry out ACVRa if individual risk factors are identified during the consultation (the 'ACVRa plausibly indicated' population in our analyses), in line with current recommendations.¹⁴ Apparent shortcomings in targeting of ACVRa appear to be mitigated in this population. The context is existing evidence of overtreatment of low-risk patients and undertreatment of high-risk patients.³² A 2009 study describes a marked undertreatment of high-risk patients, particularly in management of lipids, ascribed to insufficient collection of patient information, and focus on individual risk factors rather than ACVR.³⁵ Our findings provide evidence for registrars focussing ACVRa on patients with indicators of potential higher risk. Whether this focused risk assessment translates to more focused therapy is a topic for further research.

ACVRa more likely to be carried out for regular patients

Patient being new to the registrar or new to the practice was associated with ACVRa being 25% and 73% less likely, respectively. The effect sizes were greater when analysis was confined to 'at-risk' problems (the patient being 'new to registrar' and 'new to practice' were 34% and 79% less likely to receive ACVRa, respectively). The patient's relevant problem/diagnosis being new was associated with ACVRa being 32% less likely to be performed. These results imply ACVRa is perceived by registrars as a tool for regular patients under continuing care.

These findings may also stem from clinical time constraints. Consulting new patients or new presenting problems may often be too time-consuming for inclusion of ACVRa, consistent with literature demonstrating higher ACVRa rates in GPs who think there is sufficient time in the consult.²⁶ A majority of GPs (77%) believe there is sufficient time to carry out ACVRa assessment during a routine consult,²⁶ but this may not be viable when seeing a new patient or presentation. International

literature lists time constraints as an established barrier to implementation of CVD risk scoring among GPs.⁶⁰ A new patient to the practice is also unlikely to have previous pathology results and repeated blood pressure measurements to facilitate ACVR calculation.

Further, GPs are more likely to carry out ACVRa when perceiving their patient as being willing to undertake lifestyle modification,²⁶ which may be more likely for patients with an existing rapport with their GP registrar, as in regular patients (not new to the practice). These implications—that GP registrars employ ACVRa in regular patients—is also supported by our finding that ACVRa being carried out is associated with 43% increased likelihood of follow-up with the same registrar. That is, ACVRa is used within the context of continuity of care.

While this is clinically very appropriate, ACVRa should also be employed in the context of registrars seeing new patients or patients of their more senior colleagues as a preventive care opportunity to proactively address cardiovascular risk.

Implications for education and training

These findings have implications for GP Training. While there is some evidence of ACVRa being employed effectively by registrars in the 'at-risk' problems/diagnoses population, in the wider population ACVRa of female patients is poorer—potentially contributing to mismanagement (either undermanagement or overmanagement). Also, ACVRa of Aboriginal and/or Torres Strait Islander patients could be improved to contribute to greater equity in CVD outcomes. A concerted effort to improve ACVRa performance in these groups within clinical practice is warranted. Improved education of registrars in provision of ACVRa must be prioritised to bridge evidence-practice gaps.³⁵

Strengths/limitations

To our knowledge, this was the first study exploring ACVRa among GP registrars/trainees. The large number of consultations, high response rate for studies of GPs⁶¹ and geographical coverage (classifications of rurality from major city to remote) were strengths of this study. The findings have good generalisability to Australian GP vocational training and other apprenticeship-like practice-based GP training programmes internationally.⁶²

A limitation is that, as the analyses are cross-sectional, association only (not causality) can be inferred.

A further limitation of our data is that it is a 'snapshot' of what occurred in the consultation, and we do not have patients' medical histories or medicines regimens. The data being confined to single consultations, so not allowing calculation of proportion of patients having had an ACVRa within a specified time period, is thus a limitation of our study.

As the data are self-recorded, there is potential for social desirability bias, but this should be minimal given that the registrars record a large number of potential

QUESTIONS

- ⇒ To determine the prevalence of general practice (GP) registrars' performing Absolute Cardio-Vascular Risk assessments.
- ⇒ To determine the associations of GP registrars' performing Absolute Cardio-Vascular Risk assessments.

FINDINGS

- ⇒ While GP registrars are actively conducting absolute cardiovascular risk (ACVR) assessment, this study reveals the possible underutilisation of ACVR assessment (ACVRa) in female patients and younger people. While we found evidence that Aboriginal and/or Torres Strait Islander people are more likely to have ACVRa carried out, there may be considerable scope to improve assessment in this group.

MEANING

- ⇒ This research indicates the desirability of further education and training of GP registrars to improve management of cardiovascular disease (CVD) within clinical practice and contribute to equity in CVD outcomes. Our findings also contribute nuance to a body of evidence around the undermanagement of CVD in women by finding underascertainment of risk in female patients—which may contribute to undertreatment or overtreatment in individual patient management not guided by ACVR.

clinical actions in every consultation, so ACVRa would not be a particular area of focus.

CONCLUSION

GP registrars are proactively carrying out ACVRa, and there is evidence of targeting of ACVRa to groups with higher probability of elevated ACVR (males, Aboriginal and Torres Strait Islander people, patients aged 55–74). But there remains scope for higher rates of assessment in female patients and younger people. Assessment of ACVR may be more likely in regular patients, reinforcing the importance of care continuity in general practice. While this study found some evidence for higher rates of ACVRa in Aboriginal and/or Torres Strait Islander people, further efforts to improve CVD management will be crucial in contributing to equity in health outcomes.

Author affiliations

¹School of Population Health, University of New South Wales Faculty of Medicine, Kensington, New South Wales, Australia

²NSW & ACT Research and Evaluation Unit, GP Synergy Ltd - Newcastle, Mayfield West, New South Wales, Australia

³School of Medicine and Public Health, The University of Newcastle, Callaghan, New South Wales, Australia

⁴University of Tasmania Menzies Institute for Medical Research, Hobart, Tasmania, Australia

⁵University of Tasmania School of Medicine, Hobart, Tasmania, Australia

⁶General Practice Clinical Unit, The University of Queensland Faculty of Medicine, Brisbane, Queensland, Australia

⁷Clinical Research Design and Statistical Support Unit (CRDITSS), The University of Newcastle Hunter Medical Research Institute, New Lambton, New South Wales, Australia

⁸Department of General Practice and Primary Health Care, The University of Melbourne, Carlton, Victoria, Australia

⁹Monash University Faculty of Medicine Nursing and Health Sciences, Clayton, Victoria, Australia

Contributors PM and JP conceived the study. PM, AD, AR, MvD, AT, JP and NS provided methodological and clinical input into study design. AF was responsible for overall management of the study. AT and AR were responsible for data management. EGH provided analysis planning and overall supervision of statistical analyses. JB conducted the main analyses, AR contributed to the analyses. All authors contributed to interpretation of the findings. TM and PM wrote the first manuscript draft, and all authors contributed to and approved the final manuscript.

Funding The ReCEnT project was funded from 2016 to 2019 by an Australian Department of Health-commissioned research grant and supported by the GP Synergy Regional Training Organisation.

Competing interests MN is co-chair of the Australian Chronic Disease Prevention Alliance the 'Guidelines for assessing and managing cardiovascular disease risk.

Patient and public involvement Patients and/or the public were not involved in the design, or conduct, or reporting, or dissemination plans of this research.

Patient consent for publication Not applicable.

Ethics approval This study involves human participants and was approved by the Human Research Ethics Committee (HREC) from the University of Newcastle (reference, H-2009-0323). Participants gave informed consent to participate in the study before taking part.

Provenance and peer review Not commissioned; externally peer reviewed.

Data availability statement No data are available. The data that support this study cannot be publicly shared due to ethical or privacy reasons.

Supplemental material This content has been supplied by the author(s). It has not been vetted by BMJ Publishing Group Limited (BMJ) and may not have been peer-reviewed. Any opinions or recommendations discussed are solely those of the author(s) and are not endorsed by BMJ. BMJ disclaims all liability and responsibility arising from any reliance placed on the content. Where the content includes any translated material, BMJ does not warrant the accuracy and reliability of the translations (including but not limited to local regulations, clinical guidelines, terminology, drug names and drug dosages), and is not responsible for any error and/or omissions arising from translation and adaptation or otherwise.

Open access This is an open access article distributed in accordance with the Creative Commons Attribution Non Commercial (CC BY-NC 4.0) license, which permits others to distribute, remix, adapt, build upon this work non-commercially, and license their derivative works on different terms, provided the original work is properly cited, appropriate credit is given, any changes made indicated, and the use is non-commercial. See: <http://creativecommons.org/licenses/by-nc/4.0/>.

ORCID iD

Parker Magin <http://orcid.org/0000-0001-8071-8749>

REFERENCES

- 1 Joseph P, Leong D, McKee M, *et al*. Reducing the global burden of cardiovascular disease, part 1. *Circ Res* 2017;121:677–94.
- 2 Australian Institute of Health and Wellbeing (AIHW). *Heart, stroke and vascular disease: Australian facts*. AIHW, Australian Government, 2023. Available: <https://www.aihw.gov.au/getmedia/88095d15-88f7-4b64-a954-846d2f1cdd26/Heart-stroke-and-vascular-disease-Australian-facts.pdf.aspx?inline=true>
- 3 Nghiem S, Afoakwah C, Byrnes J, *et al*. Lifetime costs of hospitalised cardiovascular disease in Australia: an incidence-based estimate. *Heart Lung Circ* 2021;30:1207–12.
- 4 Vos T, Lim SS, Abbafati C, *et al*. Global burden of 369 diseases and injuries in 204 countries and territories, 1990–2019: a systematic analysis for the Global Burden of Disease Study 2019. *Lancet* 2020;396:1204–22.
- 5 Kyu HH, Abate D, Abate KH. Global, regional, and national disability-adjusted life-years (DALYs) for 359 diseases and injuries and healthy life expectancy (HALE) for 195 countries and territories, 1990–2017: a systematic analysis for the Global Burden of Disease Study 2017. *Lancet* 2018;392:1859–922.
- 6 Lopez AD, Adair T. Is the long-term decline in cardiovascular-disease mortality in high-income countries over? Evidence from national vital statistics. *Int J Epidemiol* 2019;48:1815–23.
- 7 de Looze M, Dias A. *Trends in cardiovascular deaths. Bulletin no.141. Cat. no.AUS 216*. Canberra: Australian Institute of Health and Welfare, 2017. Available: <https://www.aihw.gov.au/reports/heart-stroke-vascular-disease/trends-cardiovascular-deaths/summary>
- 8 Woodruffe S, Neubeck L, Clark RA, *et al*. Australian cardiovascular health and rehabilitation Association (ACRA) core components

- of cardiovascular disease secondary prevention and cardiac rehabilitation 2014. *Heart Lung Circ* 2015;24:430–41.
- 9 Calabria B, Korda RJ, Lovett RW, et al. Absolute cardiovascular disease risk and lipid-lowering therapy among aboriginal and Torres Strait Islander Australians. *Med J Aust* 2018;209:35–41.
 - 10 Vervoort D, Kimmaliardjuk DM, Ross HJ, et al. Access to cardiovascular care for indigenous peoples in Canada: a rapid review. *CJC Open* 2022;4:782–91.
 - 11 Burnette CE, Ka'apu K, Scarnato JM, et al. Cardiovascular health among U.S. indigenous peoples: a holistic and sex-specific systematic review. *J Evid Based Soc Work* (2019) 2020;17:24–48.
 - 12 Yusuf S, Hawken S, Ounpuu S, et al. Effect of potentially modifiable risk factors associated with myocardial infarction in 52 countries (the INTERHEART study): case-control study. *Lancet* 2004;364:937–52.
 - 13 Jackson R, Lawes C, Bennett D, et al. Treatment with drugs to lower blood pressure and blood cholesterol based on an individual's absolute cardiovascular risk. *The Lancet* 2005;365:434–41.
 - 14 National Vascular Disease Prevention Alliance. Guidelines for the management of absolute cardiovascular disease risk. National Stroke Foundation. 2012. Available: <https://informme.org.au/guidelines/guidelines-for-the-management-of-absolute-cvd-risk-2012>
 - 15 Grundy SM, Pasternak R, Greenland P, et al. Assessment of cardiovascular risk by use of multiple-risk-factor assessment equations. *Circulation* 1999;100:1481–92.
 - 16 Jackson R, Lawes CMM, Bennett DA, et al. Treatment with drugs to lower blood pressure and blood cholesterol based on an individual's absolute cardiovascular risk. *Lancet* 2005;365:434–41.
 - 17 Jackson R, Barham P, Bills J, et al. Management of raised blood pressure in New Zealand: a discussion document. *BMJ* 1993;307:107–10.
 - 18 Wilson PW, D'Agostino RB, Levy D, et al. Prediction of coronary heart disease using risk factor categories. *Circulation* 1998;97:1837–47.
 - 19 Conroy RM, Pyörälä K, Fitzgerald AP, et al. Estimation of ten-year risk of fatal cardiovascular disease in Europe: the SCORE project. *Eur Heart J* 2003;24:987–1003.
 - 20 Hippisley-Cox J, Coupland C, Vinogradova Y, et al. Predicting cardiovascular risk in England and Wales: prospective derivation and validation of Qrisk2. *BMJ* 2008;336:1475–82.
 - 21 Volker N, Davey RC, Cochrane T, et al. Improving the prevention of cardiovascular disease in primary health care: the model for prevention study protocol. *JMIR Res Protoc* 2014;3:e33.
 - 22 Royal Australian College of General Practitioners (RACGP). Guidelines for preventive activities in general practice: assessment of absolute cardiovascular risk. 2021. Available: <https://www.racgp.org.au/clinical-resources/clinical-guidelines/key-racgp-guidelines/view-all-racgp-guidelines/guidelines-for-preventive-activities-in-general-pr/prevention-of-vascular-and-metabolic-disease/assessment-of-absolute-cardiovascular-risk>
 - 23 Banks E, Crouch SR, Korda RJ, et al. Absolute risk of cardiovascular disease events, and blood pressure- and lipid-lowering therapy in Australia. *Med J Aust* 2016;204:320.
 - 24 Vartiainen EA, Laatikainen T, Philpot B, et al. The projected impact of population and high-risk strategies for risk-factor control on coronary heart disease and stroke events. *Med J Aust* 2011;194:10–5.
 - 25 Black JA, Sharman JE, Marwick TH. Absolute risk assessment for guiding cardiovascular risk management in a chest pain clinic. *Med J Aust* 2021;215:486.
 - 26 Greaves K, Smith A, Agostino J, et al. Cross-sectional survey describing general practitioners' absolute cardiovascular disease risk assessment practices and their relationship to knowledge, attitudes and beliefs about cardiovascular disease risk in Queensland, Australia. *BMJ Open* 2020;10:e033859.
 - 27 Harris MF, Parker SM, Litt J, et al. Implementing guidelines to routinely prevent chronic vascular disease in primary care: the preventive evidence into practice cluster randomised controlled trial. *BMJ Open* 2015;5:e00939712.
 - 28 Eaton CB, Galliher JM, McBride PE, et al. Family physician's knowledge, beliefs, and self-reported practice patterns regarding hyperlipidemia: a national research network (NRN) survey. *J Am Board Fam Med* 2006;19:46–53.
 - 29 Byrne D, O'Connor L, Jennings S, et al. A survey of GPs awareness and use of risk assessment tools and cardiovascular disease prevention guidelines. *Ir Med J* 2015;108:204–7.
 - 30 De Muylder R, Lorant V, Paulus D, et al. Obstacles to cardiovascular prevention in general practice. *Acta Cardiol* 2004;59:119–25.
 - 31 Ban J-W, Perera R, Stevens R. GPS' familiarity with and use of cardiovascular clinical prediction rules: a UK survey study. *BJGP Open* 2020;4:bjgpopen20X101081.
 - 32 Jansen J, Bonner C, McKinn S, et al. General practitioners' use of absolute risk versus individual risk factors in cardiovascular disease prevention: an experimental study. *BMJ Open* 2014;4:e004812.
 - 33 Chapman N, McWhirter RE, Jose KA, et al. General practitioners maintain a focus on blood pressure management rather than absolute cardiovascular disease risk management. *J Eval Clin Pract* 2021;27:1353–60.
 - 34 Patel B, Patel A, Jan S, et al. A Multifaceted quality improvement intervention for CVD risk management in Australian primary healthcare: a protocol for a process evaluation. *Implement Sci* 2014;9:187.
 - 35 Webster RJ, Heeley EL, Peiris DP, et al. Gaps in cardiovascular disease risk management in Australian general practice. *Med J Aust* 2009;191:324–9.
 - 36 Raffoul N. CVD risk assessment in Australian primary care. South Australia: GP19 conference, 2019.
 - 37 Wan Q, Harris MF, Zwar N, et al. Prerequisites for implementing cardiovascular absolute risk assessment in general practice: a qualitative study of Australian general practitioners' and patients' views. *J Eval Clin Pract* 2010;16:580–4.
 - 38 Wan Q, Harris MF, Zwar N, et al. Sharing risk management: an implementation model for cardiovascular absolute risk assessment and management in Australian general practice. *Int J Clin Pract* 2008;62:905–11.
 - 39 Marquina C, Talic S, Vargas-Torres S, et al. Future burden of cardiovascular disease in Australia: impact on health and economic outcomes between 2020 and 2029. *Eur J Prev Cardiol* 2022;29:1212–9.
 - 40 Herrington W, Lacey B, Sherliker P, et al. Epidemiology of atherosclerosis and the potential to reduce the global burden of atherothrombotic disease. *Circ Res* 2016;118:535–46.
 - 41 Department of Health and Aged Care. General practice workforce - general practice workforce providing primary care services in Australia (2020-21 financial year). 2023. Available: <https://hwd.health.gov.au/resources/data/gp-primarycare.html>
 - 42 Taylor R, Clarke L, Edwards D. Australian general practice training program national report on the 2018 National Registrar Survey. Camberwell, Australia: Australian Council for Educational Research, 2018. Available: https://research.acer.edu.au/higher_education/66/
 - 43 Davey A, Tapley A, van Driel M, et al. The registrar clinical encounters in training (recent) cohort study: updated protocol. *BMC Prim Care* 2022;23:328.
 - 44 Magin P, Morgan S, Henderson K, et al. The Registrars' clinical encounters in training (recent) project: educational and research aspects of documenting general practice Trainees' clinical experience. *Aust Fam Physician* 2015;44:681–4.
 - 45 Australian Bureau of Statistics. Australian standard geographical classification (ASGC) 2011. Canberra: Australian Bureau of Statistics, 2011. Available: <https://www.abs.gov.au/ausstats/abs@.nsf/PrimaryMainFeatures/1216.0.15.002>
 - 46 Australian Bureau of Statistics. Census of population and housing: Socio-Economic Indexes for Areas (SEIFA). Canberra, Australia: Australian Bureau of Statistics, 2018. Available: <https://www.abs.gov.au/ausstats/abs@.nsf/mf/2033.0.55.001>
 - 47 Vogel B, Acevedo M, Appelman Y, et al. The lancet women and cardiovascular disease commission: reducing the global burden by 2030. *Lancet* 2021;397:2385–438.
 - 48 Woodward M. Cardiovascular disease and the female disadvantage. *Int J Environ Res Public Health* 2019;16:1165.
 - 49 Bairey Merz CN, Andersen H, Sprague E, et al. Knowledge, attitudes, and beliefs regarding cardiovascular disease in women: the women's heart alliance. *J Am Coll Cardiol* 2017;70:123–32.
 - 50 Turner LR, Cicuttini F, Pearce C, et al. Cardiovascular disease screening in general practice: general practitioner recording of common risk factors. *Prev Med* 2017;99:282–5.
 - 51 Banks E, Welsh J, Joshy G, et al. Comparison of cardiovascular disease risk factors, assessment and management in men and women, including consideration of absolute risk: a nationally representative cross-sectional study. *BMJ Open* 2020;10:e038761.
 - 52 Naicker K, Liddy C, Singh J, et al. Quality of cardiovascular disease care in Ontario's primary care practices: a cross sectional study examining differences in guideline adherence by patient sex. *BMC Fam Pract* 2014;15:123.
 - 53 Dhingra R, Vasan RS. Age as a risk factor. *Med Clin North Am* 2012;96:87–91.
 - 54 National Institute for Health and Care Excellence. Cardiovascular disease: risk assessment and reduction, including lipid modification. London: National Institute for Health and Care Excellence, 2023. Available: https://www.ncbi.nlm.nih.gov/books/NBK592514/pdf/Bookshelf_NBK592514.pdf
 - 55 Australian Institute of Health and Welfare (AIHW). National key performance indicators for aboriginal and Torres Strait Islander primary health care: results from June 2016. Series no.4. Cat. no.IHW 177. Canberra: AIHW, 2017. Available: <https://www.aihw.gov.au/>

- getmedia/97a128f6-d611-4471-8818-0849867a1b60/20793.pdf.aspx?inline=true
- 56 Vasant BR, Matthews V, Burgess CP, *et al.* Wide variation in absolute cardiovascular risk assessment in aboriginal and Torres Strait Islander people with type 2 diabetes. *Front Public Health* 2016;4:37.
 - 57 Davis TME, Hunt K, McAullay D, *et al.* Continuing disparities in cardiovascular risk factors and complications between aboriginal and Anglo-Celt Australians with type 2 diabetes: the Fremantle diabetes study. *Diabetes Care* 2012;35:2005–11.
 - 58 Thompson SC, Haynes E, Woods JA, *et al.* Improving cardiovascular outcomes among aboriginal Australians: lessons from research for primary care. *SAGE Open Med* 2016;4:2050312116681224.
 - 59 Reading J. Confronting the growing crisis of cardiovascular disease and heart health among aboriginal peoples in Canada. *Can J Cardiol* 2015;31:1077–80.
 - 60 Hobbs FDR, Jukema JW, Da Silva PM, *et al.* Barriers to cardiovascular disease risk scoring and primary prevention in Europe. *QJM* 2010;103:727–39.
 - 61 Bonevski B, Magin P, Horton G, *et al.* Response rates in GP surveys - trialling two recruitment strategies. *Aust Fam Physician* 2011;40:427–30.
 - 62 Hays RB, Morgan S. Australian and overseas models of general practice training. *Med J Aust* 2011;194:S63–4.